L2
1 V) A KM

—— &
RS OEES BERIBOBLEH
k3 OFEERD KB 0liGE
hi| 9:00~12: 00(§I1‘ﬁ|1‘|d:11 :30XT) #(13:00~16:00
SEEEHBILEENHA| 9:00~1 '7.00(§I1'ﬁ|1‘|:|:1 6:00%T)
->:<7‘3I/>9“—W(:Fﬁé&ﬂ%%ﬁ@%&iﬁﬁ%éﬁ@(i FEROERBEER)ET, 218 BT (o
o - . —Z~C = 233 oyt N
*PEHRIP, MREER - BRABHE - SHEXFMREUR - 88 | maraomn T
FRORO TS, 65 @h&@&xwﬁwiﬁo$i@m K D | FamansEd,
L > —ADEBERIBTTo>TLIESI 0,
B B X X & & +
2R 1 2 3
J\iE s
iy WEARE | Rt 4—
9:00~11:30
]
1% R A —
13:30~16:00
4 5 6 7 8 9 10
_ _ T2 1 HeH e,
T MEEHL 52— FAARE | fEt 4— | FRt 42—
9:00~11:30 9:00~11:30
, TR KERE
g BFRE 4— | £EHhES
15301600 | 13301600
11 12 13 14 15 16 17
Rl RE | _
1L8 it maE | HET | Z2R
TRt A— | mRt A— | mRtI&— At
1% =
18 19 20 21 7 23 24
FHl = ENs —=Ey e || =ETIE Fﬁﬁ:ff:f; =518 %5%5 =E5R| =2 | =ER
=ERLE | SREE W awm HEY RE (a1 HES
1% = = T= | ki (S &t | 2a—| LakE
25 26 27 28
A —gn | |=5n|%E | =an
SERHE | WEE | oo | IR | gl = BEw
Xt | FR | 2| TR |2 s
q:& = = pay
B
3H 1 2 3
Fay = A& S
Al q | SER | ARE | ZER REZEA
At | HEX HEX | xR EEH
. ftage k2t | oEEOH
ST
4 5 7 8 9 10
i e ot
Al cpn |ZER | FE (ZEm | o c5w |sRe | zER | v |=s8
| HEY HEY oo BEY gBY | T4 | mEx
, TE | (e ftae | B fLatg ftatm | BRMN | ate
F1&
11 12 13 14 15 16 17
- ABIE ARG RBHE AR
A B =38 |BiaE| =8 [Eitae| =28 [EisE =s8
w0 | MBX | i | HEX | w0 | BEX | wno | HEX
g ARARSE| LR \AELRE| LRE (ARARE| LRI (AEARE LR
HOEE POEE DEEE HOEE

TEH - BREOSE
FeRE DR S




